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For if not, he could tell him uproot your trees, take them and go

OVERVIEW

The X713 rules that if one sold his land to another and retained (even) two trees for
himself, the seller retains the right to the land needed for the nourishment and
harvesting of the trees. The X723 explains that if we will maintain that the seller did
not retain any rights to the area surrounding the trees, that landowner could tell him
191 732°R NPy, Our MooIn clarifies this ruling.

—warwyay vy
The explanation of this ruling, that if we assume 7w X2, he can tell him 739°X Py, is
that he can tell this to him when the trees will wither (but not when the trees are still alive).

N1v0IN comments:
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And even without the reasoning that the trees weaken the land, the land owner
would be allowed to say to the nu>X 5va, uproot your tree (w2»w3?), if we

assume that 2"w» 8; the reason is that since 2wn X9, the MI»°K Y3 —
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Cannot retain the (dead) tree in his field against the will of the landowner -
HDINN DIPN MIND NYIY I
And in addition the landowner wants to seed the area where the tree is standing.

SUMMARY
The reason of XYIX >wrndn is not necessary to grant the landowner the right to say
W2»WwaL 197 RIPR PY.

THINKING IT OVER
According to moon that the reason of XYIX “wron is not necessary, why indeed
does the X»3 mention it?!"

" The rule is that if one buys two trees even though he has no vp7p he can retain the trees as long as they are alive

2 The X states the reason the landowner has the upper hand (2w R? °X), is because the roots of the (dead) tree
make the land less fertile. N150I1N claims even without Xy7& *wnon the landowner would still have the upper hand.

? The roots of the tree (besides being Xy *wnon) do not allow him to plow near the tree. See ‘Thinking it over’.

* See 3 MX 7"o0.
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